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Group 2 From 8-13

Maodel answers (8-9)
®- b/ fail to have connection
9. a /be cheaper than today
(N.B): - I the student writes only the first word of the correct answer,
the answer rates full mark.

Remarks from (8-9)

V- Bach nem s allowed 6 marks.

<= Either the letter or the complete answer is accepted or bot
1¢ first.

3- IF the student writes two answers for the same item, cor
4- Overlook copyving mistakes.
Model answers (10-11)
10-  provide
I1-  prominent

Remarks from (10-11)

I- EZach item is allotted 6 marks,

. : B
2- Only the above mentioned ansyvess are accepted.
capitalization,

S-1f the student writes ' swers for the same ilem.. his ANS\WCEr rates zero cvoer

12- ....... ansformed the way people communicate with each other.

---------

ple communicate with each other.
........ aW people to live in an electronic world
= s .. access information.
b e interact with others.
13- . IS sent 1o a factory,

covveoo 1S made (1o the customer's specifications).

Remarks from (12-13)
1= Fach item is allotted 6 marks.
2- The above mentioned answers are accepted in addition to any logical

completion related to the text,
3- Overlook gramimar, copying and spelling mistakes.
4= Any additiors or omission that doesn't make distortion is overlooked.
= Any addition or omission that makes distortion, deduct 1 mark.
6- Any other advantage mentioned in the text i1s accepted.
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Model answers from (¢-7)

6. Wirds and insects travel long / extensive / far distinees.
7. Most migrating animals travel tak ing the same path/ route every ycar.

- Most migrating animals travel without changzing the route.
Re marks from (6-7)

1- Each item is aliotted 6 marks.

and capitalization.

rrection ~aithot rewriting the whole sentence,

3- 1f the student writes only the

answer rates 3 marks, "

5- 11 the student writes the a\!ﬁ

i the acpative form, the answer vales revo.
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\Vodel answers (21-24)

N

e

I- Where did you go (yesterday)?
- When did you go to the school concert?
- What did you do yesterday?
- Where were you yesterday?

- What did you attend vesterday?

- Which/What concert did you attend/ go to yesterday

22- Who attended 1t?
- Who went there?

Who was there?

Who d:d attend 1t?

23 What which kind’ sort /type ol mus)
- What Which music did t
What ard the musicians :i{_r.*.‘

- Did the musicians or the St

- Did the musicit

- Who playced cla music?

24- (Answers

- rach e lotted 8 marks.

Deduc s myg

|

i
E

mistak = the answer rates zero.

q-'a.

shouldn't exceed 4 marks.

+ musicians play?

48 for wrong question word’ word cluster.
[ the <tudent writes a wrong question word with more thain one gramn

- Deduct 2 marks tor a grammar mistake provided that the total deduction

5. I the student writes two questions for the same answer, consider the fir

6- Overlook capitalization, punctuation and spelling imistakes.

7- 1 the student writes the correct question word only’, his anstver rates 21

8- Any logical question or answer related to the dinlogue is accepted.
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Remarks from (29-30)
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L= Yach tem s allotted 7 marks.

2- The completion that doesn't make sense rates zero, even if il Is grammatically

correct.

3- Deduct 1 mark for any grammar mistake.

4- Overlook spelling mistakes unless they give nise to anotht myaning.

\{ so, deduct 1 mark.

(N.13) - the total deduction for both crammar ar inmshould not excecd 3 mi

i the completion sull makes sens

5- Overlook punctuation marks:

6- Any logical completion s ;:l!:

7- The clause must €

Model answers (2-23
31-in order w
32- mususe
33-maj

Remarks from (31-33)

- Each item s allotted 6 marks,

2- Only the above mentioned answers are accepled.

3- Overlook copying mistakes.

4- Two answers {or the same number rates zero.
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Group 4 From 25-33

Model answers (25-28)
2s. They didn't have their (own) songs written,

- They didn't have them written.
(N.B) - The four steps to form the causative are required, otherwise the answer rales Zero.

- 1f the student uses the positive form, deduct 2 marks.

26-  New schools were built (in the city) by the government.

- New schools were built by the government in the city g
5

(N.B) - The first three steps to form the passive are required, o vise the answer

ralcs zero.

| "
- If the agent (by the government) 1s not n dmieduct 2 marks.

27-  (She said) she was going to visit her cousi ext day / the following day/ the

day after.

(N.I3) - I the student doesn't ulmnkﬁ « Werd (tomorrow ), tdeduct 1T ma rk

28- (1 wish) I was / were (in charg®o company .

(N.B) - If the student gative form, deduct 2 marks.

Remarks from (25-28)
- Each item 1s allo
nstakes.

B
each grammar mistake provided th

2- Overlook spelli

3. Deduct 2 m at the total deduction

should not exceed 4 marks if the sentence still makes sense.
4- The words between brackets are optional.
Model answers (29-30)
29- ...... (answers vary) (future tense — simple present- modals)

30- ....... (answers vary) (second conditional)

M

b st a1+ 1Y e ATk A,0AN AdRasa¥l § 5 iy el Jaad/ Y AL AW EDR A~ D58 A phas atety g 2pdly == 0
RRN N RN RRRSRRNRS RSN RRNEAREANRANRERRNE RN EREEEEENCRRERRSERRRAL reererereer’



? oS e R ARRALs AN u v n e an e N LR AL
Groupl From 1-7

Model answers: (1-3)
Lo and animals They pass cross) mountains or lorge through rivers.
O and antmals pass ) mountans and - or nivers.

(NGB - L the stedent mentions one place only, his answer rates full mark.
> Mamy anmmals migrate northwards ) because the long summer days means thi
there i o plenty of foad. To find tood.
- Tor temperate weather,

. animals

Remarks from (1-3)

(N.B): - Informanon between brackets is optional
1= Each tem s allotted 6 marks,
2- Overlook irrelevant information unles s one sentence. I so, the

ANSWEr rates 70rn,

3- Overlook copying, Lrummpaig s Iling mistakes and capitalization.

A« Any logical answer relatedMo teat s atecepted.

Model answers fron
a4- 1etum

. temperute
(4-5)

fiMoted S marks.

2. Only the above mentioned answers arce accepted.

Remarks In

1- lLach

3. Overlook capitalizntion and copying mistakes unless they give rise 1o another

word 1 s0, the answer rates zero,

2o 11 the student writes two answers for the same item, consider the first.
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Group 5 From 34-33

Model answers (34-36)
34- has lived / have lived / has been living /have

33- will travel / i1s going to travel/ 1s travelln

36- broke / had broken

Remarks from (34-36)

|- Each 1tem 1< allotted

2- Only the above mentiopedy#iswers arc accepted.

:lh.! unless they give rise to another meaning.

3- Overiook spelhn

rk.

If so. deduct 1
rwise the answer rales Zero.

Bns) are required. othe

4- Complete (
s for the same number. €

L Ve . ' { o
5. 1n case the student WLES TwWo Ans™

onsider the Hisld
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Group 3 From 14-24

Model answers (14-16)
14-  from
15-  been

\6- and/ or / besides/ as well as/ in addition to/ plus

Remarks from (14-16)

1= Lach item s allotted 6 marks.

_ e - :
2- Only the above mentioned answers are accepted.

ise 0 New Woras.

1- \ L % T - -
3- Spelling mistakes are overlooked, unless they
kil

Il s0. the answer rates zero,

4- 1 the student writes two answgrs for i uestion. consider the first.

Model answers (17-20)
17- denth

18- became
19- continued

20- discoveries

Remarks fro

1- [Lach 1tem 1S llotted 6 marks.

2- Only the ove mentioned answers arc accepted.

1- Overlook copying mistakes and capitalization.

4- I the student writes TWO answers in one space, his answer raies 7ev0.

| SWe - en if one of the
5. Repeating the same answer more than once rates zero, even if one of th

correct.

6- Answers in the form of numbers rat¢ Zero.
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